京翰教育中心 http://www.zgjhjy.com

平面向量练习 12（平面向量的数量积及运算律练习2）

一、选择题

1.已知｜
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3.设向量
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4.在四边形ABCD中，
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6.对任意向量
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D.无法确定

7.已知下列各式：①
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8.已知｜
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[image: image93.wmf]a

和
[image: image94.wmf]b

的夹角为θ，则｜
[image: image95.wmf]a

-
[image: image96.wmf]b

｜等于(    )

A. 
[image: image97.wmf]q

cos

2

2

2

ab

b

a

+

+




 B. 
[image: image98.wmf]q

sin

2

2

2

ab

b

a

+

+


C. 
[image: image99.wmf]q

sin

2

2

2

ab

b

a

-

+




 D. 
[image: image100.wmf]q

cos

2

2

2

ab

b

a

-

+


二、填空题

1.已知A(1，3)，B(2，4)，C(5，6)，则
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2.已知A(3,m),B(2m,1),若｜
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三、解答题
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